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1. BEEBEOE
(1) FEEINE
ERUEERS 3 3
EXRMENS 3 3
HEEEERT 1 1
BFEEEZIFAR 1 1
EXRINE 26,405 3914 30,319
AR—Y B E I 10,200 10,200
REHEER T AR 12,211 3914 16,125
SRR ER T A RN A 3,994 3,994
STHRHMEE 130,450 7,358 24,303 162,111
SIHEEE 74,573 1,586 24,303 100,462
SMTEREEZTE 55,732 5,772 61,504
SHEAGHSE 145 145
ZHREEE 1,625 1,625
THEHEE 1,625 1,625
SmMEME 1 1
SMEME 1 1
MUNAE 2,163 2,163
AR AR 2,163 2,163
BEEIRARET 158,484 13,435 24,304 0 196,223
(2) BEEH
= 166,980 9,793 176,773
% B $REN 2,664 72 2,736
far 27,319 738 28,057
HFEH 18,135 511 18,646
EERAE 8,665 251 8,916
REBHETER 3,552 96 3,648
RRFEES 13,037 634 13,671
WRERXBEE 117 1 118
BIEERE 778 54 832
BN & 2,000 100 2,100
+2510H & 1,251 19 1,270
HEMRE 3,955 228 4,183
EiEE 3,951 192 4,143
RIS ARE 1,240 7 1,247
R E 5,989 291 6,280
SeEKHE 13,681 665 14,346
BREE 398 398
e 1,872 121 1,993
XIVRER R 873 6 879
XIFHH 1,505 68 1573
WEE 877 877
TR AR 1,000 1,500 2,500
2 N=EFik 1175 52 1,227
XiLHEEE 14,614 14,614
£itE 35,607 4,087 39,694
REmEBAE 100 100
it £ 2,300 2,300
HE 425 425
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% B $REN 864 864
e 8,860 8,860
HFEH 5572 5,572
EERAE 2,552 2,552
REgHS T E A 1,152 1,152
£ 42 42
WREXEE 62 62
BIEERE 374 374
HERE 469 469
EEE 228 228
e N 25 25
R E 198 198
BiEE 10 10
EEH 2,705 2,705
XILEREE R 415 415
XILFHH 1,413 1,413
TR AR 1,630 1,630
XEE 50 50
XiLEEE 57 57
HE 14 14
¥E &R 166,980 9,793 26,692 0 203,465
ST il 45 2 3R EE A S HA LR RAR A 8,496 3,642 A 2,388 0 A 7,242
EARBETMIERE
BEEET MRS
BEHMI ST MRS
Eliki=EAttyy 0 0 0 0 0
LR IR A 8,496 3,642 A 2,388 0 A 7,242
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(1) FESUREE
Bl & EFT AT
ElE & E 2R
EE M E 0 0 0 0
(2) BENER
ElE & EFTHE
BElE & ERMBEL
KEEK
EENERG 0 0 0 0 0
LEARRE SMEMEE 0 0 0 0 0
heEHiREEE 1,300 A 1,300 0
L HA— AR IERRBA EE 1B RRE A 7,196 2,342 A 2,388 0 A 7,242
— R EREAESE RS 0 0
— R IERBAEE R R TR = A 7,196 2,342 A 2,388 0 A 7,242
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L HAE T IERR B4 EE 1B INEE 0 0 0 0 0
EEEKRMESHEES 30,000 30,000
EEEKRMERRES 30,000 30,000
I FERMERRES 22,804 2,342 A 2,388 0 22,758
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